bleu = descente, vert = maintien
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13 joueurs RK PM 2m60 Pts Rep | MG | OK |[RK PM 2m60 Pts Rep MG OK |RK PM 2m60 Pts Rep | MG OK |RK PM 2m60 Pts Rep | MG OK C B | A | <=ordre
1|SEINGIER JEAN-CLAUDE 8| 6 120| 87 |1,38] x * 8|6 120| 741162 x | 8| 6 120 92 11,30 1,423]118| 24 1
2|MASTALERZ PASCAL * X |86 111 94 | 1,18 54 108/ 881,23 x | 8|6 120| 80 | 1,50 x @ 16( 21 2
3]ru buone TU 8l 6 120] o1 |1,32| x | 5] 4 109] 99 | 1,10] x | 8] 6 120[ 88 [1,36] x | 2] 2 92| 79| 1,16 1235|116/ 21] 3
4 |ESTERMANS BERNARD 8|6 113| 97 |1,16] x | 5| 4 96| 87 | 1,10 8|6 120( 901,33 x | 5|4 108| 91 |1,19] x fﬁ 16| 21 4
5|BrAZY MANUEL * X |86 120| 56 (2,14 x | 5| 4 118/ 851,39 x | 8| 4 115| 61 |1,89] x 1,_748 14| 21 5
6|MERVAILLE JEAN 514 94191 (1,03 8|6 115/ 88 (1,31 x | 5| 4 1101 70 | 157} x | 5| 4 114| 86 |1,33] x 1,293]114| 18 6
7|POULEYN ANDRE 514 80 /100/0,80f x | 5| 4 116| 73 1,59 x | 5| 4 113| 84| 1,35 x * X f& 12| 15 7
8|DELPIERRE ALEXANDRE 2|2 74| 87 10,85 8|6 108 99 [1,09] x | 2| 2 81|79|103] x |54 117| 79 11,48] x E 12| 15 8
9|FRADET NOEL 8|6 96 |100(0,96 212 97 | 851,14 x * X * X l,_043 8| 10 9

10| uBREZ PIERRE 2|2 93|83 (1,12 2|2 76 |1 93 10,82 2|2 77|76 11,01 x | 5| 4 83| 75 (1,11} x 5,006 8] 9 10
11JHUYGHE CLAUDE 514 108| 80 | 1,35 212 83| 561,48 x * X * X 1404 6| 7 11
12|VIENNE MICHEL 2|2 78 | 96 /0,81 212 87 | 100| 0,87 2|2 9590|106 x|2]|2 93|91 (1,02] x ), 6| 6 12
13|MANTEN PAUL 2|2 81 (100(0,81}] x * S X * X 2| 2 13




